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Q-2 Write numeral for each of the following

1) Nine thousand sixty

2) Five thousand five

3) One thousand eighteen

Q-3 Tick the correct option.

1) The smallest number of 4 digits is .
a) 1000 b) 1001 c) 1234

2) The digit 8 in 6018 is in the place.
a) Tens b) Ones ¢) Hundreds

3) 4205 is the same as
a) 4000+200+0+5 b) 400+200+0+5 ¢) 4000+20+5

4) In which of the following numbers does the digit 2 have the greatest place value.
a) 3728 b) 3278 c) 2378

5) XXXIV is same as
a) 36 b) 35 c) 34




Q-4 Write the number name for each of the following.

1) 2900 :

2) 8701 :
Q-5 What comes:

Before After Between

1) 1985 3) 3299 5) 3009 3011

2) 4960 4) 6868 6) 3442 3444
Mental Maths
Q-1 Use the properties of addition to fill in the missing numbers.

1) 65+ =47+ 65

2) 70 + =170

3) 14+ 2+7)=( +2)+7

Q-2 When 4328 is added to 2348, the digit at the tens place is

Q-3 The greatest four-digit number is
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a) The sum shown above has 4 in the thousands place. (True / False)
b) The sum is more than 5000. (True / False)

Q-5 The smallest 4-digit number that can be formed using the digits 2, 5, 0, 6 without

repetition is

Q-6 How many hundreds are there in 7000

Q-7 The standard form of 7 thousands + 20 tens + 6 ones is

Q-8 What will be the missing terms in the following sequence of numbers?

3426 ,3526, , , 3826
Tables
I) 5 x 6 = 6) 4 x - 8
2) x 5 = 10 7) x 9 = 45
) 6 x4 = 8 3 x R 21
4) 3 x = 12 9) x 3 = 18

55 1 x 9 = 100 4 x 9 =



